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INSTRUCTIONS

Answer all questions in Section A and any three (3) in Section B
Start each question on a new page in your answer booklet.
The marks allocated to each question are shown at the end of the section.

Show all your workings.

Credit will be given for logical, systematic and neat presentations.




SECTION A: ANSWER ALL QUESTIONS

1. Although senior management seemed somewhat pleased with the new methodology, there
was some concern that the role of senior management was ill-defined. The vice president felt
that this needed to be addressed quickly so that other executives would understand that they
have a vital role in the project management process.

The conversation between the Vice President (VP) and Project Manager (PM):

VP:

PM:

VP:

PM:

VP:

“Many of our executives are not knowledgeable in project management and need some
guidance on how to function as a project sponsor. Without this role clarification, some
sponsors might be “invisible” while others may tend to be too actively involved. We
need a balance.”

“I understand your concerns and agree that some role description is needed. However,
I don’t see how the role description will prevent someone from becoming invisible or
overbearing.”

“That’s true but we still need a starting point. We may need to teach them how to
function as a sponsor.”

“If the sponsor can change based upon which life cycle phase we are in, then, we
should delineate the role of the sponsor per phase.”

“That is a good point. Let’s also make sure we define the role of the sponsor at the
gate review meetings.”

Attempt the following questions:

(a)
(b)
(©)
(d)
(e)

®

What should be the primary role for the sponsor? [1 Mark]

Will the role change based upon the life cycle? [1 Mark]

Is it advisable for the sponsor to change based upon the life cycle phase? [3 Marks]

List the project life cycle phases [4 Marks]

Will the role delineation in the methodology force the sponsor to perform as expected?
[2

Marks]

What should be the sponsor’s role during gate review meetings? [2 Marks]

2. The activities in the table below describe the construction of a new house:

Time in days
Activity Preceding | a | m | b
A | Clear site - 315 6
B | Excavate - 2| 4 6
C | Pour A,B 516 7
foundation
D | Frame house A,B 719 | 10
E | Lay floor B 21 4 6
F | Lay roof C 1|2 3
G | Plumbing D 5|1 8 | 10
H | Finish interior D.,F 6 | 8 10
I | Finish exterior E,G,H 3| 4 5




(a) Calculate the slack of each activity [9 Marks]

(b) Briefly discuss the slack results you obtained in (a) [5 Marks]

(c) What is the probability that plumbing will be completed on time? [3 Marks]

(d) Assuming the project completion time follows a Gaussian distribution, what is the
probability that the project can be completed in 25 days or less? [6 Marks]

(e) What are the differences between the CPM and PERT? [4 Marks]

SECTION B: ANSWER ANY THREE (3) QUESTIONS

3. Briefly discuss the following types of project management contracts:

(a) Fixed price [7 Marks]
(b) Cost reimbursable [7 Marks]
(c) Time and materials [6 Marks]

4. Attempt the following questions:

a) State and briefly explain the skills required by the project manager [3 Marks]
b) Define extrinsic and intrinsic motivations [2 Marks]
¢) Outline and criticise the following theories:
i) Maslow’s Hierarchy of needs [5 Marks]
ii) Herzberg’s Motivation [5 Marks]
iii) Deming [5 Marks]

5. Consider a five year project with an initial investment of $100 000 in the first year and $20
000 in the 2nd, 3rd and 4th year and 80 000 in the 5 year. The estimated benefits in year one
is $0 and $60 000 in each of the 2nd, 3rd and 4™ years. The fifth year has $100 000. Use a
discount rate of 0.10 to analyse the project. Clearly display the net present value, return on
investment and year in which paybacks occurs. Write a paragraph on whether you would
recommend investing in this project basing on your financial analysis results. What are the
advantages of using the net present value? [20 Marks]

6. Dr. Murairwa is planning to build a boarding primary school.
(a) Use the first two project planning tools to plan the project. State the weaknesses of the

first project planning tool [10 Marks]
(b) State four assumptions you need to analyse the project [4 Marks]
(c) Identify the attributes of the project [6 Marks]
The end of paper
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ADDITIONAL INFORMATION
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Some headings of the financial Analysis template: net cash flow, present value of
benefits, flow of costs and discount factor.

Social cost = Private costs + Negative Externalities_
Social benefit = Private benefits + Positive externalities

Planned Value = Total Cost of Project x % of Planned Work = Budget at Completion x %
of Planned Work.
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